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1. Game theory applies to problems that arise in
perfect competition.
monopolies.
oligopolies.
monopsonies.
all of the above.
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2. The slope of the isocost is
a. -always equal to 1.
b. equal to income divided by input price.
c. equal to the ratio of the input prices.
d. decreases as we move from left to right.

e. none of the above.

3. In the short run, which of the followin
about expanding or contracting output?

marginal costs and revenue.

total costs and revenue.

average costs and revenue.

fixed costs.

none of the above.

g are.most important in any decision
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4. According to "supply-side" economists
shifted to the right by:
a. higher income taxes.
. more regulation of industry.
c. a higher inflation rate.
d. lower income taxes.
e. a lower inflation rate. ‘

. the aggregate supply curve can be

5. In order to support its currency, a government would be least likely to:

enter the market and buy its own currency.
increase defense expenditures abroad.
limit the travel abroad of its citizens.
curb imports.

none of the above.
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6. Increase in investment spending and increases in consumer spending are
subject to the same multiplier because:

investors and consumers are equally powerful.

MPC is less than one and greater than zero.

all new dollars enter the same circular flow.

both increases are subject to the same MPC.

all of the above
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n increase in required reserve ratio would tend td

raise excess reseérves and raise the money multiplier.
lower excess reserves and raise the money multiplier
increase excess reserves and lower the money multiplier.
lower excess reserves and lower the money multiplier.

none of the above.
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Which of the following statements about the law of:diminishing marginal

returns is not true? .
It is an empirical generalization.

a.
b. It assumes that technology remains fixed.
c. No inputs are fixed in quantity. ) . ; . )
d. It must be possible to vary the proportions in which various inputs are

used. ' . 019
e. It holds in both agriculture and industry.
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9.

10.

11,
l2.

13,

14.

15.

‘ The'simultaneous expansion or contraction of output by all firms is likely

The crowding-out effect of higher interest rates can| be avoided by

to alter for an individual firm:
a. input prices.

b. cost curves.

C. supply curve.

d. all of the above.

€. none of the above.

Under monopoly, marginal cost ordinary is less tdan price because:
a. price is less than marginal revenue. 1

b. price is greater than marginal revenue.

C. marginal cost is less than average cost.

d. marginal cost is greater than average cost.

€. none of the above

According to the Keynesians:
a. prices are relatively inflexible downward.
b. the length of time required for the economy to get itself out of a severe

recession would be very long. : i
C. governments can be trusted to establish responsibie economic policies.
d. all of the above.
€. none of the above.

If a tax of 5 dollars per ‘gallon is imposed on gasioline, all of the tax is
paid by consumers if: _ .

a. the supply curve for gasoline is vertical.
b. the Supply curve for gasoline is upward sloping,
c. the demand curve for gasoline is vertical.

d
e

the demand curve for gasoline is horizonal.

none of the above. ¢

smaller budget deficit would reduce the trade deflicit by

A

a. lowering interest rates, depreciating the curreﬁcy, and increasing net
exports.

b. raising interest rates, appreciating the currency, and decreasing net
exports.

C. lowering interest rates, appreciating the currency, and increasing net
exports.

d. raising interest rates, depreciating the currency, and increasing net
exports, S0

€. none of the above.

The theory of the kinked demand curve is that §
a. although the firm sells a differentiated product, too many competitors

exist to make it worthwhile speculating on responses to the firm’s
behavior.

freedom of entry will reduce profits to zero.

a firm’s competitors will follow it in a price decrease but not follow it
in a price increase. ‘ .

d. firms are all seekin
e. all of the above.

aOG

g the position of joint profit maximization.

expansionary fiscal policy.
expansionary monetary policy.
contracting monetary policy.
decreasing taxes.

none of the above.
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